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ENGLISH GRAMMAR
=» Vocab of the day :-

1. INCUMBENT (ADJECTIVE) : (EIT'h:IT:T) : current
Synonyms: existing, present

Antonyms: past

Example Sentence: The incumbent President got defeat.

2. RELEGATE (VERB) : (P H PR I) : downgrade

Synonyms: lower, put down

Antonyms: upgrade

Example Sentence: They aim to prevent women from being relegated to a secondary role.

3. RATIFY (VERB) : (Jf® =) : confirm
Synonyms: approve, sanction
Antonyms: reject

Example Sentence: Both countries were due to ratify the treaty by the end of the year.
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ENGLISH GRAMMAR
CLOZE TEST

(1) :- Read the whole passage carefully.

STRATEGY :-

(2) :- Try to understand the basic
meaning of the given passage.

(3) :- Eliminate the options which are not
related to the passage.

(4) :- Understand every single sentence carefully.



ENGLISH GRAMMAR
CLOZE TEST

Question 01 : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out of
the four alternatives.

The sun had set but there was still some light in the sky. Martin (1) on his elbow
and looked (2) through the leaves. In the waters of the lake, close to the shore, he
saw a (3) of alligators floating quietly. One of the creatures, (4) huge one, was

lying on a high (5) of sand, a few yard from the water.

1. (a) sat (b) crossed
(c) Leaned (d) lay
Sol. Option (d)

2.(a)into (b) down
(c) at (d) for
Sol. Option (b)




ENGLISH GRAMMAR
CLOZE TEST

Question 01 : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out of
the four alternatives.

The sun had set but there was still some light in the sky. Martin (1) on his elbow
and looked (2) through the leaves. In the waters of the lake, close to the shore, he
saw a (3) of alligators floating quietly. One of the creatures, (4) huge one, was

lying on a high (5) of sand, a few yard from the water.

3. (a) semblance (b) family
(c) volume (d) number
Sol. Option (d)

4.(a)an (b)a
(c) one (d) single
Sol. Option (a)




ENGLISH GRAMMAR
CLOZE TEST

Question 01 : In the following passage, some of the words have been left out. Read the

passage carefully and select the correct answer for the given blank out of
the four alternatives.

The sun had set but there was still some light in the sky. Martin (1) on his elbow
and looked (2) through the leaves. In the waters of the lake, close to the shore, he
saw a (3) of alligators floating quietly. One of the creatures, (4) huge one, was

lying on a high (5) of sand, a few yard from the water.

5. (a) bank (b) peak

(c) pit (d) pile
Sol. Option (d)




ENGLISH GRAMMAR
CLOZE TEST

Question 02 : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out of
the four alternatives.

Delhi’s air quality deteriorates with unfailing A at this time of the year, with large
swathes of north India in the grip of a suffocating smog, but the State governments that
can make it easier for millions to breathe do not act with any sense of B . That it

has turned into a public health emergency C the capital, with the air quality index
touching extremely hazardous levels in some parts, necessitating the closure of primary
schools, has further lowered its standing. It is unconscionable for governments, through

D and inaction, to subject citizens to such toxic air, and cause extreme suffering
especially E people with respiratory ailments and impaired lung function.

A. (a) Sometimes (b) Regular
(c) Always (d) Regularity
Sol. Option (d)




ENGLISH GRAMMAR
CLOZE TEST

Question 02 : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out of
the four alternatives.

Delhi’s air quality deteriorates with unfailing A at this time of the year, with large
swathes of north India in the grip of a suffocating smog, but the State governments that
can make it easier for millions to breathe do not act with any sense of B . That it

has turned into a public health emergency C the capital, with the air quality index
touching extremely hazardous levels in some parts, necessitating the closure of primary
schools, has further lowered its standing. It is unconscionable for governments, through

D and inaction, to subject citizens to such toxic air, and cause extreme suffering
especially E people with respiratory ailments and impaired lung function.

B. (a) Panic (b) Laid back
(c) Urgency (d) Accomplished
Sol. Option (c)




ENGLISH GRAMMAR
CLOZE TEST

Question 02 : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out of
the four alternatives.

Delhi’s air quality deteriorates with unfailing A at this time of the year, with large
swathes of north India in the grip of a suffocating smog, but the State governments that
can make it easier for millions to breathe do not act with any sense of B . That it

has turned into a public health emergency C the capital, with the air quality index
touching extremely hazardous levels in some parts, necessitating the closure of primary
schools, has further lowered its standing. It is unconscionable for governments, through

D and inaction, to subject citizens to such toxic air, and cause extreme suffering
especially E people with respiratory ailments and impaired lung function.

C. (a) Onto (b) Under
(c) In (d) On
Sol. Option (c)




ENGLISH GRAMMAR
CLOZE TEST

Question 02 : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out of
the four alternatives.

Delhi’s air quality deteriorates with unfailing A at this time of the year, with large
swathes of north India in the grip of a suffocating smog, but the State governments that
can make it easier for millions to breathe do not act with any sense of B . That it

has turned into a public health emergency C the capital, with the air quality index
touching extremely hazardous levels in some parts, necessitating the closure of primary
schools, has further lowered its standing. It is unconscionable for governments, through

D and inaction, to subject citizens to such toxic air, and cause extreme suffering
especially E people with respiratory ailments and impaired lung function.

D. (a) Steps (b) Measures
(c) Unconcerned (d) Indifference
Sol. Option (d)




ENGLISH GRAMMAR
CLOZE TEST

Question 02 : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out of
the four alternatives.

Delhi’s air quality deteriorates with unfailing A at this time of the year, with large
swathes of north India in the grip of a suffocating smog, but the State governments that
can make it easier for millions to breathe do not act with any sense of B . That it

has turned into a public health emergency C the capital, with the air quality index
touching extremely hazardous levels in some parts, necessitating the closure of primary
schools, has further lowered its standing. It is unconscionable for governments, through

D and inaction, to subject citizens to such toxic air, and cause extreme suffering
especially E people with respiratory ailments and impaired lung function.

E. (a) Among (b) Since
(c) In (d) Thereon
Sol. Option (a)







